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Christmas Multiplication

Solve the following word problems.

Santa needs to wrap 12 gifts for each of his 7 elves.
How many gifts does he need to wrap in total?

A family baked 13 batches of cupcakes for a
Christmas party. Each batch has 8 cupcakes. How
many cupcakes did they bake in total?

A Christmas cookie recipe calls for 8 cups of flour.
If Mrs. Claus is making 5 batches, how many cups
of flour does she need?

A Christmas carol group has 9 members. Each
member sings 12 songs. How many songs do they
sing in total?

The Grinch got 7 presents from each of 11 houses.
How many presents did he steal in total?

Each reindeer eats 25 carrots a day. If Santa has 8
reindeer, how many carrots does he need per day?

If each of Santa’s elves makes 6 toys and there are
13 elves, how many toys are made in total?

A Christmas tree farm has 14 rows of trees with 9
trees in each row. How many trees are there in

total?

9 A Christmas bakery has 15 trays of cookies. Each
tray contains 6 cookies. How many cookies are

‘here in total?
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